o(d dxy) (cm)

o(d o) (rad)

[
<
1N

Rati

0.95Li

1071ff

30%

=
IIIIIIIII

.

i

i

2h

g

4

1 2 3

o(d dz) (cm)

Rati

=
| ) )

0.95H%

-3

-2

-1

™

wivivlle|

M
M
M
M

—MKET_XIMnusSPU_Tetrain Z-lowpt
“mkFEit_XiMinusPU_NEWdefault_specPLess1-2-lowpt
“mkFEit”_XiMinusPU_NEWdefault_specPLess2-2-lowpt
“mkFit_XiMinusPU_NEWdefault_specPLess3-2-lowpt
mkFit” XiMinusPU NEWdefault_specPLess4-2-lowpt

1 0 1 2 3
TP ® (PCA to beamline)

|
w

|
N

1 d

o p_/p.)

107

RaU%
o

=
LUULIULI W DL

0.95

|
w

2

3

TP ® (PCA to beamline)



	Contents
	Page 1


